Témazaro IV. fejezet

1. Kosd dssze helyesen a bal oldali oszlopot a jobb oldalival!

K =
négyzet =2%3 + 2%h
T negyzet = —
K tegiatap = =2*a*b + 2*b*c + 2*a*b
T téglalap = - a*a
A =
kocka - a*a*a
V kocka = - a*b*c
A ié =
téglatest = 6*a%a
Vv téglatest = - 4*a
2.
Négyzet: Kbetivel = Thetivel =
a=57cm Kszémoltkal= Tszirnokkal -
K= cm T= cm?
3.
Téglalap: Kbetiivel = Thetivel =
a=10m Kszamokkal = Tszamokkal =
b=5m K= m T= m?
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" Kocka Apetivel = : Téglatest:
a=2dm A szsmokkal = a=2m Vbetiikkel=
A= dm? b=1m Vszamokkal=
c=3m V= m?
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